BRIEETU> b

=3 (

1 F(EFEE

£ #H F AW

/5[

O HDOEAERDZE (I fg/cm> T
ey 480¢g

4cm

22cm
12cm

Q@ $DFEE(L7.87g/cm> TT . $#5300cm>*DBEE(HAgTIHY,

@ $HDEE(F11.35g/cm3> TY . $1272.4gDARFE(FAcm> TIHY

@ ROEE(F8.96g/cm> T . #13.36kgDIFFE(IfEcm® TIH,

® BEM105.0eDMAEEIKDAD ANBET T AMich &
JEAZRTUSAH—(CANBE, E—60 - »| [E—60
KEERDKDICEILLEL =
2o COMARDEE (Falg/cm® E—50 0
TIh, =
=—40 0
=—30 0

22



BRIEETU> b A B8C )

1 F(EFEE

£ H F s /5
@ JKICHHE40gZm EN LT DL D /2100gDEKDEE/(—t2> MEE
(A% TIh )
@
®

@ =37/\>40g7%7K280glC MU TDOL D FTKBROEZ/\—t2> b @
RE(MF%TIH,

® BE2/\—t> MNEEN 5 %DIEEEHY D LAKERZE300gD< DI,
IK(IEIgnETI N,

@ BE/)(—1z> MNREMN14%DWHEKN 150g5 D KT . TDIHEKD
REZ 7 %(CTBIC(E, KefghXNELNTIH.

® HDA, BOMIEKZEEZSNHETTES N
WHEKOBEE/(—t> MNEE(HMEI% T
\

. g

BEN\—tY MRE 7k 210
30%DEYKEK 100g ¢

22



BERIET U > b A B )
ALL =) oese
1 F{LF518E
F O B & /5]
O HDOEAERDZE (I fg/cm> T
b\o 480g 5 g/cm3
A1E(lE, 4[cm] x 12[cm] x 2[cm] 4cm
= 96fen] °2cm 2361¢
TR 480[g] _ 3
2, 96 [crn’] = 5[g/cm’) 12cm
24cm?®
Q@ $DFEE(L7.87g/cm> TT . $#5300cm>*DBEE(HAgTIHY, 375em?
7.87[g/cm®] x 300[cm®] = 2361[g]
10.5g/cm?

® $ADEE($11.35g/cm* TY ., #1272.4gDAREIEAcm3 TI O

272.4[g)

— = 24[cm?
11.35[g/cm3] 2]

@ ROEE(F8.96g/cm> T . #13.36kgDIFFE(IfEcm® TIH,

3.36kg = 3360g
3360[g]

——————— = 375[cm?)
8.96[g/cm?]
©® BEN105.0eDMAZKDAD ANBH [ Anfeh &

AR U H—CANDE, [E—60 b ~| [E—60
KEFHDKSICEELEFL =
2o COYMARDEE (FAg/cm® =50 0
TIh, =

=—40 0
AF&(, 55.0 — 45.0 = 10.0[cm’] =

=—30 0

B, 105.0[g] <+ 10.0[cm®]
= 10.5[g/cm?]

e



BRIET U N B B )
ALL =) ~eoe
1 F{LFEEE
£ @ B & /5F8
@ KICHHE40gm &L TDLK 272100gDEKDEE/\—t> NEE
(A% TIh, 40%
10le] 199 — 4004
100[g]
12.5%
285¢g
@ =37/(>40g%7K280g(C £ LT D SR BROBR) (—2> b 150
EEHA%TI D, &
__ M0kl g0 12.5[%)
(280 + 40)[g] 20%

® BE2/\—t> MNEEN 5 %DIEEEHY D LAKERZE300gD< DI,
IK(IEIgnETI N,

N vy pad—1 5
SBEDESE(S, 300[g) x o5 = 15le]
JKODEEE(E, 300 — 15 = 285[g)

@ BER)—> NEEN 14%DMIEKN 1505 D ET. ZORIEKD
BEE 7%(CTBICE, KEMNRANELNTIH,
AEOERAEER T OREE 7 - 14 :% (T3,

BROBES%R 2 B CINERNDT,
MZBKDEEE, BEDBEFRDE=ZEFU1508TT,

DIEKODER) (— > NRE 3% T
e QSD w#g
- 40g
BEDEEE, 100[g] x % +40 = 70[g] _— ll
SEROEEE, 100+40 + 210 = 350[g] om0
70[g]

82/ (—t> NEE,

x 100 = 20[%]
350(g]

22



